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PART A: GRAMMAR

Directions: Choose the number of the answer choice (1), (2), (3), or (4) that best

completes the blank. Then mark it on your answer sheet.

131-

133-

134-

135-

Excavation is, in essence, an act of destruction: ..........ccoesnnans all the upper levels are

completely obliterated.

1) meaning that the site is cleared down to the lowest level

2) the site cleared down to the lowest level meaning that

3) it means for the site to clear down to the lowest level

4) to clear a site down to the lowest level means that

Certain weeds that flourish among rice crops resist detection until maturity by

imitating the seedling stage in the rice plant's life cycle, ............... until the

flowering stage.

1) thereby remaining indistinguishable from the rice crop

2) the rice crop thus remaining indistinguishable from

3) which remains indistinguishable from the rice crop

4) from which the rice crop remains idistinguishable

A critical question that remains to be answered is whether the morphological

attributes of the female reproductive organs of wind-pollinated species .................... ,

1) are evolutionary adaptations to wind pollination or are merely fortuitous

2) or those of evolutionary adaptations to wind pollination are merely fortuitous

3) or not whether evolutionary adaptations to wind pollination are merely fortuitous

4) are merely fortuitous or whether evolutionary adaptations to wind pollination to
be so

Although some consider forcefulness and perseverance to be two traits desirable to

the same degree, I think that making a violent effort is much less useful .................... :

1) to maintain than does a steady one 2) and steady one than it maintains
3) than maintaining a steady one 4) than maintain a steady one does
We accepted the theory that .................... , they begin to feel so isolated and lonely that

freedom becomes a negative condition that most will seek to escape.
1) in order for people to become independent of one another

2) as people become more independent of one another

3) independent of one another people become

4) people's being independent of one another

GO ON TO THE NEXT PAGE
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136- Several other abilities appear less frequently. A rare savant may have extensive
language ability—that is, the capacity to memorize many languages ...........c.c.o... "
1) vet not that needed understanding them
2) . not understanding them. however
3) rather of understanding them
4) but not to understand them
137- The approach was to expose patients to a tiny amount of beta amyloid—the rogue
protein ......c.cccceeenee in the brain.
1) thought to trigger the sticky plaques that accumulate
2) it is thought to trigger the sticky plaques accumulating
3) they think triggers the sticky plaques that accumulated
4) is thought of triggering the sticky plaques accumulated
138- At the touch of a cricket’s antennae the tarantula seizes the insect so swiftly that a
motion picture ......eviennens and not the process of capture.

1) at the rate of 64 frames per second is taken to show the result

2) taken at the rate of 64 frames per second shows only the result
3) takes the rate of 64 frames for the result to be shown per second
4) only a picture to take with the result rate of 64 frames per second

PART B: VOCABULARY

Directions: Choose the number of the answer choice (1), (2), (3), or (4) that best

completes the blank. Then mark it on your answer sheet.

139- Even though Robert knew he would probably get caught, he felt robbing the bank

WAaSs A/AN i he needed to perform to save his family.
1) blueprint 2) caprice 3) insinuation 4) penchant
140- Doctors are supposed to practice under .........cvvnnnen in which they put their patients’
health before financial compensation.
1) aegis 2) duress 3) ethos 4) impassivity

141- Under the Safe Drinking Water Act, the Environmental Protection Agency is
required either to approve individual state plans for controlling the discharge of

wastes into underground water or ... its own plan for states without
adequate regulations.
1) query 2) enforce 3) usurp 4) portend

142- If not for my wife’s .......cccvuee. , we would not have been able to set aside enough
money to send our three children to college.
1) prodigality 2) revitalization 3) altruism 4) providence

143- When the technique known as gene-splicing was invented in the early 1970's, it was
feared that scientists might .................... create an "Andromeda strain,” a microbe

never before seen on Earth that might escape from the laboratory and kill vast
numbers of humans who would have no natural defenses against it.

1) incoherently 2) imprecisely
3) inadvertently 4) extemporancously
144- If the reporter didn’t mean to cause such uproar among the public, he shouldn’t have
written such a/an ........cccvern. article about the city leaders.
1) incendiary 2) authoritative 3) exhaustive 4) flamboyant
GO ON TO THE NEXT PAGE
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145- Do you think the airline is going to ......cccoieiinins the expense I incurred from missing
my connecting flight?
1) forfeit 2) inflict 3) appraise 4) indemnify

146- Though he tried hard to keep a straight face, he could not .................... that he had felt
greatly hurt because of the harsh words spoken against him by his friend.
1) sustain 2) dissimulate
3) unveil 4) explicate

147- The commentator has a good voice, but because of his pleonasm, is not very
popular—people like commentators who are ..........coe..... and incisive.
1) precipitate 2) partisan  3) pithy 4) mellifluous

148- I wanted to know where her .................... came from because her performance never
lacked enthusiasm or energy.
1) encomium 2) libretto  3) bravura 4) complacence

149- This state of incessant agitation of the mind is attributed to the corruption of
the primordial knowledge and breaking union with God, which results in the
defilement and corruption of the .........ccoviena. .

1) liturgy 2) melee 3) perdition 4) nous

150- Though he holds no personal grudge towards Jirou, who won fairly against Yuta, he

does resent Mizuki for a long time after seeing how Jirou treated his brother as

SOMEONE .oorvcrsnrrarsnssans to ensure his team's victory.
1) expendable 2) dispassionate
3) apocryphal 4) snide

PART C: Reading Comprehension

Passage 1:

The long-standing 19th-century anatomical model of the brain’s language network just got
a 21st-century upgrade. Marco Catani, a psychiatrist at the King’s College Institute of
Psychiatry in London, and his colleagues have discovered a pathway that links the two
primary language regions in the brain’s left hemisphere with a third region long suspected
to contribute to human linguistic prowess. Found with a modified magnetic resonance
imaging technique known as diffusion tensor tractography, the pathway affirms that “the
circuit for language is more complex than we thought,” Catani says.

In the classic scheme, a bundle of nerve fibers called the arcuate fasciculus (red, at right)
directly ties together Wernicke’s area, the site of spoken language comprehension (roughly
behind the ear), to Broca’s area, the location of language production (behind the eye). The
newfound pathway consists of two shorter fiber bundles that initially follow the arcuate
fasciculus but end in the Geschwind territory of the inferior parietal lobe (toward the back
of the head), an area thought to play a role in making language meaningful.

Although the indirect pathway will need to be verified by dissection—Catani suspects its
proximity to the direct pathway has obscured its existence in the past—the virtual evidence
matches actual nerve bundles found in monkey brains. The inclusion of the inferior parietal
lobe in the language circuit could provide clues to how children develop language—the
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region is one of the last to mature in toddlers, and its full development coincides with the
acquisition of complex language skills.

The pathway could also elucidate how language evolved. Catani says the correlation
between human and primate anatomies suggests that “language is not due to a new
structure of the [human| brain but somehow has developed from preexisting connections.”

151- What is the best title for the passage?
1) Mystery of First Language Acquisition
2) Language: A Biological Feature
3) Language Pathway Revealed
4) Human Language Evolution
152- Which one of the following could best be inferred from the passage?
1) The existence of the pathway assumed to link the two primary language regions
cannot be verified by dissection.
2) Wernicke’s area in the brain is no longer believed to be the site of spoken
language comprehension.
3) Human language developed when the two primary language regions in the brain
got connected.
4) The circuit for language was thought to be less complex than it now seems to be.
153- Which of the following is a part that makes language meaningful?
1) An indirect pathway yet to be verified
2) A part located somewhere around the back of the head
3) Fiber bundles that urn parallel to the arcuate fasciculus
4) A newly discovered pathway ending in the Geschwind territory
154- According to Catani, the newly discovered pathway was left unnoticed for which of
the following reasons?
1) This pathway is a hypothetical entity whose existence is hard to substantiate
anatomically.
2) Such a discovery was hampered due to something related to its location.
3) Scientists had been biased due to their belief in the classic scheme.
4) The necessary technology for such a discovery was not available.
155- According to the passage, the pathway now discovered has the potential to shed light
on which of the following?
1) Correspondences between humans' and primates' brain anatomies
2) How language skills are compartmentalized in the brain
3) The development of language in children
4) How complex toddlers' language is

Passage 2:
How far off are self-judgments? [l] People’s notions about their intelligence tend to

correlate only 0.2 to 0.3 with performance on intelligence tests and other academic tasks.
College students’ ratings of academic self-efficacy during their first year correlate only 0.35
with their instructors’ evaluations. In the workplace, the correlation between how people
expect to perform and how they actually do hovers around 0.20 for complex tasks.

People in some domains do better than others. In athletics, where critiques from
coaches and others who have an “outside” perspective tend to be constant, immediate and
unambiguous, the typical correlation is 0.47. In the realm of complex social interactions,
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however, where feedback might be occasional, often delayed and ambiguous, it tends to be
much lower—for instance, just 0.04 for self-assessment of managerial competence and 0.17
for interpersonal skills. Acquaintances may predict a person’s performance in some
situations berfer than the person himself or herself can. As Donald A. Risucci of New York
Medical College and his colleagues put forth in a 1989 study, although the self-views of
surgical residents are not related to their performance on standardized board exams, their
supervisor’s ratings are strongly related, as are the ratings of their peers who are equally
inexperienced. [2] And in a 1991 study by Bernard M. Bass and Francis J. Yammarino of

Binghamton University, peer ratings of leadership, rather than self-ratings, predict which
naval officers will be recommended for early promotion.

[3] Individuals also demonstrate inflated estimates of self when they assess how quickly

they will complete tasks, a phenomenon known as the planning fallacy. For example, Roger
Buehler of Wilfrid Laurier University in Ontario and his colleagues reported in a 1994
study that college students take three weeks longer to finish their senior thesis than the
most “realistic” estimate that they give for the task—and one week longer than what they
describe as their “worst case” scenario. In a similar vein, in 1997 Buehler, Dale W. Griffin
of the University of British Columbia and Heather MacDonald, then at Simon Fraser
University in Burnaby, B.C., found that citizens typically believe they will complete their
tax returns more than a week sooner than they actually do.

[4] Motoreyclists believe they are less likely to cause an accident than the typical biker.

Business leaders believe their company is more likely to succeed than the average firm in
their industry.

156- Which of the following best matches the main idea of the passage?
1) There are three things extremely hard: steel. a diamond, and to know one’s self.
2) Hope for the best, but prepare for the worst.
3) You can't judge a book by its cover.
4) No man is an island.
157- The author refers to college students and people in the workplace in order to .....c.euuuee «
1) debunk the fallacy that education augments efticacy
2) prove that self-efficacy ratings are in fact inefficacious
3) support the main point that is made in the same paragraph
4) demonstrate that self-efficacy varies from context to context
158- The word "it" in paragraph 2 refers to .....cccervennns &
1) feedback 2) self-rating 3) interaction 4) correlation
159- Which of the following is supported by the passage?
1) In order to not bias people who are going to be asked to self-rate their efficacy in
doing a particular task. instructors should refrain from offering critiques.
2) That peer rating is more accurate than self-rating is supported by some research.
3) When people enter into complex social interactions the amount of feedback they
receive rises automatically.
4) When it comes to people's perception of the time they need to perform tasks,
people's self-ratings improve significantly.
160- The following sentence can be added to the passage.
Students have no monopoly on such “above average effects when it comes to their
assessment of self”
Where would it best fit in the passage? Choose [l], [2], [3] , OF [4] "

1) [4] 2) [3] 3) 2] 4) [1]

This is the end of Section 5.
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101 1 131 4
102 4 132 1
103 3 133 1
104 1 134 3
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